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n42 = 2an41+an (=1, 2, 3, --+)
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(1) a=1-v2, =142 &8, a+p=2, af =—-172DT,
alza—i—,B:
ay=a®+ B2 = (a+B)? — 208 =[6]
RIZ, fREBBOBBREY o, BIEt2—2t—1=0D 22D T,
a?—2a—1=0---@
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Oxa"+@xB" &Y apyo—2ap11 —ap =04 apio=2ap11 +a, (n=1,2,3, ---) BRI N7
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(2) AF mod 10 T,

a; =2 =2

a =6 =6

a3 =2a9+a; =Z2x6+2=4

ag =2a3+ay; =2x4+6=4

as =2a4+az =Z2x4+4=2

ag =2a5+ay =Z2x2+4=8

a7 =2a4+a3 =Z2x8+2=8

ag =2a7+ag =2x8+8=4

ag =2ag+a; =2x4+8=6

alg=2a9+ag =Z2x6+4=6

a1 =2a10+a9g =2xXx6+6=8

als =2a11 +a10=2x8+6=2

a3 =2a12t+ a1 =2x2+8=2

a1y =2a13+ a2 =2%x2+2=6

o Taz & ayy O 1 OROBIFENEN |2, 6]
(3) mod 10 T,

{ WM 20T, 6, D1 OROKIE 12 % TN D

a2 = Q14

£2oT1000=12%x83+4 &V ajgpo=ays =4

WIZ, -1<a<0&D0<al <1
EbhbEBL 3< a1000 —al000 4 e 3 < 61000 < 473*5520ﬁ00)’c, [(1+ﬂ)1000] D1 @4&6;
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